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1. 40 quintals is what percent of 2 metric tonnes?

a.2% b. 20% c. 150%
40 Ftpz;lhy; vd;gJ 2 nkl;hpf; Id;fspy; vj;jid rjtPjk;?
a. 2% b. 20% c. 150%

1 metric tonne =10 Quintals
50 required percentage = (40/(2%10)) #100 %
= 200%

2. Find out the wrong number in the following series.

15, 30, 90, 180, 540, 1090, 3240
a. 3240 b. 1090
gpd;tUk; njhlhpy; cs;s jtwhd vz;izf; fz;Lgpbf;fTk;.
15, 30, 90, 180, 540, 1090, 3240
a. 3240 b. 1090
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4. A and B can together finish a work in 40 days. They worked it for 20 days and then
B left. The remaining work was done by A alone in 30 days. A alone can finish the
work in:

a. 54 days b. 60 days c. 48 days d. 80 days

xU Fwpg;pl;l Ntiyia A kw;Wk;B Mfpa ,UtUk; Nrh;e;J 40 ehl;fspy; nra;J

Kbf;f KbAk;. mth;fs; ,UtUk; Nrh;e;J 20 ehl;fs; Ntiy nra;jdh;. gpd;dh; B
mjpypUe;J ntspNawp tpl;lhh;. kPjpAs;s Ntiyia A Kl;Lk; 30 ehl;fspy; nra;jhh;.
A Kl;Lk; me;j Ntiyia vj;jid ehl;fspy; nra :J Kbf:f KbAK;:

a. b4ehl:fs; b. 60ehl;fs; c. 48ehl;fs; d. 80ehl;fs;
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5. Sohan can do a piece of work in 16 days and Rohan in 24 days. They take the help of
Mohan and three together finish the work in 6 days. If total remuneration for the
work is Rs.80/- then amount each will receive in proposition to the work done by
each is
a. Rs.30, Rs.20 and Rs.30 b. Rs.30, Rs.30 and Rs.20

c. Rs.40, Rs.20, and Rs.20 d. Rs.20, Rs.30, and Rs.30

Nrh'd; vd;gth; xU Ntiyia 16 ehl;fspYk; mNj Ntiyia Nuh'd; 24
ehl;fspYk ; Kbf;fpd;wdh;. ,g;nghOJ ,t;tpUtUld; NkhfDk; Nrh;e;J ,Nj
Ntiyia Kbf;f 6 ehl;fs; MfpwJd. ,e;j nkhj;j Ntiyapd; $yp &.80 vdpy;
xt;nthUtUk; ngw;w njhif vt;tsT?

a. Rs.30, Rs.20 and Rs.30 b. Rs.30, Rs.30 and Rs.20

c. Rs.40, Rs.20, and Rs.20 d. Rs.20, Rs.30, andRs.30
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6. Consider the following
Statements : Some cars are bikes
No bike is train
Conclusion: I. No car is train
[I. No bike is car
lll. Some cars are trains
V. Some bikes are cars
a. | and Il are correct

c. all are correct

gpd;tUk; $w;Wfisf; ftdpf;fTk;:
$w;W: rpy fhh;fs; igf;Ffs; MFKk;.
ve;j xU igf;Fk; ,uapy; MfhJ.

KbT: 1. ve;j xU fhUk; ,uapy; M fhJ .
Il. ve;j xU igf;Fk; fhh; MfhJ.
lll. rpy fthh;fs; ,uapy;fs; MFk;.
IV. rpy igf;Ffs; thh .fs; MFk;.
a. | kw;WKk;lll rhp b. IV kl;Lk; rhp

c. midj;JK; rhp

b. IV alone is correct
d. I, Il and IV are correct

d. I, Il kw;WktV rhp
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7. Find the missing number in the matrix
tpLgl;l vz;izf; fz;lwp

8 2 12 ?
20 16 28 50
a. 13 b. 14 c. 16
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8.Sneha63%tahgeofisher fatherodos age. Snehaods

age after 10 years. I f Vimal s ei ghth
what 1 s Snehads present age?
a. 6% years b. 24 years c. 30 years d. 5 years
pNdfhtpd; tal  mtul  jelijapd; tajpy: % Kig:fhFk:. rpNdfh tpDila
je;ijapd; tajhdJ gj;J tUlq;fST;F gpwF tp ky; taijg;Nghy ,uz;L kiqg;F

ta jhFk; . tpkypd; taJ ,uz;L Mz,LfSf;F Kd;G 8 taJ vdpy;> rpNdfhtpd;
jw;Nghija taJ vd; d?

a. 6% Mz;Lfs; b. 24Mz;Lfs;

c. 30Mz;Lfs; d. 5Mz;Lfs;
Vimal's present age = 8 + 2 = 10 year.

Father's age after 10 years = (10 4 10) x 2 = 40 years.
Father's present age = 30 years.

Sneh's present age

1
= — x 30
ﬁx

= b year

9. Two taps A and B can fill a tank in 10 hours and 15 hours respectively. Both the taps
are opened for 4 hours and then B is turned off. The time taken by A to fill the
remaining tank is

a. 12/5 hours b. 13/10 hours c. 6 hours d. 10/3 hours
A>B vd;w ,uz;L Foha;fs; xU njhl;bapid KiwNa 10 kw;WKk; 15 kzpNeuj;jpy;
epug;g ,aYk;. ,uz;L Foha;fSk; 4 kzp Neuk; jpwe;J tplg;gl;L gpwF Foha; B

milf;fg;gLfpwd. njhl;bapd; vQ;rpa gFjpia epug;g Foha; A vLj;Jf; nfhs;Sk;
NeukhdJ
a. 12/5 hours b. 13/10 hours c. 6 hours d. 10/3 hours
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Tap A can fill the tank = 10 hours

Tap B can fill the tank = 15 hours

342 _ 5

=% — = =
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0 30 ]
Part of the tank filed by A & B = L

2
6

|

Remaining part of the tank =

5

After 4 hours the time taken by A to fill remaining part of the tank = 10 x 5

_10
=73 hours

10A circular ground of radius 7 m has a path width 7m around it on its outside. The

area of the path is approximately equal to 2@ =272

a. 154 sgq.m b. 308 sq.m C. 462 sq.m ; d. 616 sg.m
7 kP MuKs;s xU ti;l tbt ikjhdj;ij Rw;wp ntspGwk; 7kP mfyj;jpy; xU
ghij cs;sJ vdpy; ghijapd; gug;gsT ‘2@ =272

a. 154 r.kP b. 308 r.kP c. 462 r.kP ((;j 616 r.kP

&_d/ R luw ~=dw
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11.The number of lead shots each 3 mm in diameter that can be made from a cuboid of
dimension 9cm x 11cm x 12cm is

[

a. 7200 b. 8400 c. 72000 d. 84000

9 nrkP x 11 nrkP x 12 nrkP gf;fq;fisf; nfhz;l xU fd rJuj;jpypUe;J 3 kpkP
tpl;Ik; nfhz;l vj; jid <a Fz:L fis cUthf;f KbAk;?

a. 7200 b. 8400 c. 72000 d. 84000

(_51Paqge 044 -24339436, 044 -42867555, 984022618 7




Solution:
We have,

Radius of a lead shot, r = % =1.5mm=0.15cm and

Dimensions of the cubocid are9cmx 11 cmx 12 cm

Mow,

Volume of the cuboid

The number of the lead shots = Volume of @ shot

Qxllx;ﬁ
[€D

9x11%12
Li % ﬂ %0.15%0.15 xﬂ.15)

= 84000

So, the number of lead shots that can be made from the cuboid is 84000.

12 A rectangle is divided into 4 rectangle of different perimeters 14 cm, 22 cm, 18cm, 26
cm. The perimeter of the biggest rectangle is:
xU nrt;tfk; 14 nrkP> 22 nrkP> 18 nrkP> 26 nrkP v d;w khWgl;| Rw;wsTfisf;
nfhz;| ehd;F nrt;tfq;  fshfg; gphpf;fg;gLfpwd. mjpy; kpfg;nghpa nrt;tfj;jpd;
Rw;wsT vd;d?

a. 10cm b. 20cm c.40cm d. 80cm
.
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13.The heights of two circular cones are in the ratio 2 : 3 and the perimeter of their bases
are 3 :5. The ratio of their volumes, is
a2:5 b.6:15 c.6:25 d.3:5
U tl;If; $k;Gfspd; cauq;fspd; tpfpjk; 2 : 3. mtw;wpd; mb g;9f;f Rw;wsTfspd;
tpfpjk; 3 : 5. mtw;wpd; fd msTfspd; tpfpjk;
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a.2:5 b.6:15 c.6:25 d.3:5
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14.1f Iog6+log?jl Jog@ MBthen:
a.a+b=1 b.adb=1 c.a=b d. a*-b® 4
Iog%+ Iogg Jog@ B) vdpy;
a.a+b=1 b.adb=1 c.a=b d. a*-b 4
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15 A girl started walking from her house. She first walked fo r 3 km towards east, then
she turned towards north and moved 4 km in that direction. How far is the girl away
from her house?

a. 3 km south b. 3 km north

c. 5 km west d. 5 km north -east

xU ngz; jd;Dila tPl;bypUe;J elf;fj; njhlg;fpdhs;. Kjypy; fpof;F g f,;fkhf 3
fp.kP JluKk;> gpwF tIf;F jpirapy; jpUk;gp 4 fp.kP. JuKk; elf;fpwhs;. mt s;
jw;NghJ tPl;bypUe;J vt;tsT njhiytpy; ,Uf;fpwh S ;?

a. 3 fp.kP. njw;F b. 3 fp.kP tIf;F

c. 5 fp.kP Nkw;F d. 5 fp.kP tlfpof;F

4km 3°+4°=5" - 5kmNorthEast

3 km
16.The smallest number when decreased by 11, isexactly divisible by 20, 28, 35, 105 is
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a. 341 b. 431 c. 541 d. 531

xU Fwpg;gpl;l kpfr; rpwpa vz;zpy; ,Ue;J 111 fopj;j gpwF me;j vz; 20> 28> 35>
105 Mfpa vz;fshy; kpfr; rhpahf tFgLfpwJ vdpy;> me;j vz; vJ?

a. 341 b. 431 c. 541 d. 531
Solution:

Let Number be x.

x 011 =LCM(20, 28, 35, 105) = 420

Required Number x =420 + 11 = 431.

17.The product of two positive numbers is 120 and the sum of their squares is 289. The
sum of the number is :

a. 20 b. 23 c. 169 d. 26

,uz;L Neh;kiw vz;fspd; ng Uf;fw;gyd; 120> mtw;wpd; th:f;fg;fspd; $Ljy; 289.
me;j vz;fspd; $Ljy;:

a. 20 b. 23 c. 169 d. 26

[;c—i—y}g zm?—yg—Emy

== (z +y)? = 289 + 2(120)

—_—

18A boy had 85 currecny notes of Rs. 100 denomination and Rs. 50 denomination

totalling Rs. 5000 in all. What was the amount of Rs. 50 denominatins he had?
a. Rs. 2250 b. Rs. 3500 c. Rs. 1500 d. Rs. 1250
xU rpWitdplk; &.100 kw;Wk; &.50 kjpg;Gs;s Nehl;Lfs; 85 cs;sd. mtw;wpd; nkhj;j
kjpg;G 5000 vdpy; mt d plKs;s &.50 Nehl;Lfspd; njhif vt;tsT?
a. Rs. 2250 b. Rs. 3500 c. Rs. 1500 d. Rs. 1250

Let the number of 50-rupee notes be x.

Then, the number of 100-rupee notes = (85 - x)

-~ 50x+100(85-x)=5000 = x+2(85-x)=100

=x=70

So, required amount = Rs. (50 x 70) = Rs. 3500

19.30 percent of a number is 15 less than 3/3 of that number. What is the number?

a. 48 b. 52 c. 50 d. 70
xU vz;zpy; 30 rjtPjk; vd;gJ mNj vz;zpd; le;jpy; %d;W Klig;if tpl 15
FiwT vdpy; me;j vz;
a. 48 b. 52 c. 50 ‘ d. 70
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20If (x + m) (x + n) = x*+6x K find n?+r?

a. 25 b. 26 c. 27 d. 28
(x +m) (X +n) = x*+6x 6 vdpy; nm?+ red; kjpg;ghdJ
a. 25 b. 26 c. 27 d. 28
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211f 4+3 = 6427, 8+7 = 6449, 3+1 =741 then 63 =7

a. 369 b. 2169 c. 21627 d.2
4+3 = 6427, 8+7 = 6449, 3+1 = 274dpy; 6+3 = ?

a. 369 b. 2169 c. 21627 d.2
33 22yt
TR Ly 27 §7-q = b4 KA

, A s |

22 Raju purchased a Maruti Car 3 years ago for Rs.2 lakh. Its value depreciated each
year at the rate of 25% p.a. What is the pesent value of the car?
a.Rs. 83,475 b. Rs. 2,83,475 c.Rs. 84,375 d. Rs. 87,435
uh[ > xU khUjp tz;bapid> 3 Mz;LfSf;F Kd;dhy; & 2 yl;rk; kipg;gpw;F
thq;fpdhh;. mjd; Kkjpg;G Mz,Lf;F 25 % tPo;r;rpaile;jJ vdpy;> me;j khUjp
tz;bapd; jw;Nghija kjpg;G vd;d ?

a. &.83>475 b. &.2>83>475 c. &.84>375 d. &87>435
2, 06,000 AL b g 35 gy a5
lQC \CI” ‘CC

23In a row of girls Meena is 8t from the left and Radha is 13 from the right . If they
interchange their position Meena becomes 23¢ from the left. How many girls are
there in the row?

a. 35 b. 36 c.40 d.41

xU thpirapy; kPdh vd;gts; , [J Gwj;jpypUe;d 8t ,lj;jpYk;> u hjh vd;gts;
tyd Gwj;jpypUe;J 13 4J lj;jpYk; cs;sdh;. ,th:fspd; ,lg:fis khw;wpdhy;

kPdh ,IJ Gwj;jpypUe;J 23 i tJ lj;jpy; cs;shh; vd py;> mt;thpirapy; cs;s
khztpfsp d; vz;zpf;if

a. 35 b. 36 c. 40 d.41
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24 Five persons A,B,C,D and E were walking along a street. D was ahead of A. E was
following B. C was between A and B. who in the middle?

a. A b.C c.B d.D
A,B,C,D kw;Wk;E Mfpa le;J egh;fs; xU njUtpy; ele;J nry;fpd;wdh .. D,AfF
Kd;dhy; nry;fpwhh;. E, Blj; njhlh;e;J nry;fpwhh;. A kw;Wk; B MfpNahUf;F
JiINa C nry;fpwhh;. eLtpy; nry;gth; ahh;?
a.A b.C c.B d.D
na\x‘\\& /\\\U‘C\
£ —

£ Blda D

25.The radius of a wheel is 1.75m. How many revolutions will it make in travelling 11
km?

a. 10 b. 100 c. 1000 d. 10000
1.75 kP Muk; nfhz;l xU rf;fuk; 11 fp.kP J}uj;ij fIf;f vj;jid Rw;Wfs; Rw;w
Ntz;Lk;?
a. 10 b. 100 c. 1000 d. 10000
r \ i =) "
C e \\”‘W[ia e o7 QA ‘\ﬁ\.he-z:,l - ATX
q’\ - N - G\'I} “'T{h‘r—
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26.A camera when sold for Rs. 9600 earns a profit which is the double the amount of
loss when the same is ®ld for Rs. 6,600. What was the cost price of the camera?
a. 7100 b. 7600 c. 8100 d. 8600
xU Nfkuh &.9600f;F tpw;gid nra;ag;gLk;NghJ fpilf;Fk; ,yhgkhdJ> me;jf;
Nfkuhit &.6600f;F tpw;gid nra;tjhy; fpilf;Fk; el;lj;ijg; Nghy ,uz;L kig;F
MFk;. me; jf; Nfkuhtpd; mif;ftpiy vd;d?
a. 7100 b. 7600 c. 8100 d. 8600

27 The cost of three Tamil books and four general knowledge books is Rs.432. If the
cost of three Tamil books is the same as that of four general knowledge books, the
cost of general knowledge book is:

a. 72 b.54 c.36 d. 48

%d;W jkpo; Gj;jfg;fs; kw;Wk; ehd;F nghd mwpTg; Gj;jfq;fspd; tpiy &.432
MFk;.  %d;W jkpo; Gj;jfq;fspd; tpiyahdJ ehd;F nghd mwpTg; G;j;jfq;fspd;
tpiyf;F rkk; vdpy;> xU nghd mwpTg; Gj;jfj;jpd; tpiy vd;d?

a. 72 b.54 c.36 d. 48

28.1f2/130f A=75% of B=0.6 of C,then A:B:C is:

a.2:3:4 b.3:4:5 c.4:5:6 d.9:8:10

A-d; 2/3 = Bd; 75% = C-d; 0.6 vdpy; A:B:Cvd:;gJ

a.2:3:4 b.3:4:5 c.4:5:6 d.9:8:10
Ans: 9:8:10
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